. CAREER POWER

Solutions

$1. Ans.(b)

Sol.

Sonu — 20 days

75% work done

By Abhijeet — 10 days
%work — 10 days

1 work — ‘:—D days
Complete work will be done by both in
L3,

40 20

3+2

S$2. Ans.(b)

Sol.
Asha Usha

Efficiency — 125 : 100
5 : 4

!

= 1 !
Time €——| — 4 : 5 A ggbtn’icaations
\ Efficiency )

5r —+ 25 days “THE CRACKER”

4r — 20 days GENERAL SCIENCE

Total Work Multiple Choice Questions Book
Usha 25 4 with Detailed Explanations

100

Asha 20 8
5 days work of Usha + Asha
=5 x9=45

1800+

Remaining work = 100 - 45
Multiple Choice
=55 Questians Dotailed Includes
with 100% Explanation Previous Years

Asha worked Solutions of Physics, Questions
Chemistry & of all topics

Biology

Uselul for RRB JE, RRB NTPC, SSC JE. SSC CGL & Other Exams

Alone for = %
=11 days H -
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$3. Ans.(c)

Sol.

Kareena 9 2

Karishma 18 18 1

Shahid 3 6

3 days work of Kareena & Karishma
=3=x3=9

Remaining work=18-9=9

9 work will be done by all three in
9

== 1 day

Work lasted for = 3 + 1 = 4 days

$4. Ans.(c)
Sol.
Total Work Efficiency
K 20 3
B 60 60 1
S 30 2

5 days work ofall 3 =5 x 6= 30
Remaining work = 60 - 30= 30
3 days work of

K+B=4x3

=12

Remaining work =30 - 12= 18

Kavita will complete the remaining work in = 13—3 =6

S5. Ans.(a)
Sol.
Total Work Efficiency
Chandni 9 4
36
Divakar 12 3

2 days workof C+ D=7

10 days work of C+ D =35
Remaining work = 36 - 35

=1

Now, its Chandni's turn Chandmni will

complete 1 work in = i—days

Total time = 1[}1—
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$6. Ans.(d)

Sol.

A 6 6
B 12 36 3
C 18 2

3 days work of A,B,C= 11

9 days work of A+ B+ C= 33
Remaining work =36 -33=3

Now, it's a's turn, A will complete 3 work in

=>3 1d
— = — days
6 2V

Total time = 95 days

$7. Ans.(c)
Sol. Let C takes x days
A+B—x

A—-x+2
Boi__%
x x+2
:>x+2—x
x(x+2)
x(x+2
B#gdays
A=B-6
x(x+2
2x+4=x+2x-12
x°=16
x=4
4 X6

B does the whole work in = — = 12

$8. Ans.(d)

Sol. A + B — 6 days
B+ C — 10 days

Let A takes x days

A takes = 7.5 days

SSC CHSL

TIER-I

Memory Based Package

* Based on Papers of
1% July 2019

e One Full Length Mock
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S9. Ans.(b)

Sol.
Sharma : Kelkar

Efficiency — g0 - 100

= 4 5
Time — 5 4
dr — 24
1r—=6
Sr— 30

Sharma will complete the whole work in 30 days

$10. Ans.(b)

Sol. 12 x 20 =8 xx

x = 30 days

More days required = 30 - 20 = 10 days

$11. Ans.(c)
Sol. The number divides exactly
=(2400-6) & (1810-4)

= 2394 & 1806

Greatest number which divides

= 2394 & 1806 = 42
$12. Ans.(b)
Sol.

- _ _MD
P% =M% - D% -~
45=M-5-2

20

_19M

- 20
M = 10%

$13. Ans.(c)

Sol. A=3B
Efficiency A:BE=3:1
Time A:BE=1:3
(3-1)r—=60

2r = 60

1r — 30 days

A — 30days 3

20
BE — 090days 1

A & B working together will take = ?
=22.5 days

A adda
publications

“THE CRACKER"
GENERAL AWARENESS

{History, Geography, Polity, Economics & Miscellaneous)
3500 +muttiple Choice Questions Book with Datailed Explanations

Useful for RRB JE, RRB NTPC,
SSC CGL & Other Exams

Based an Latest Pattern

500+ Multiphe Cholcs Ouastions with 100'% Solutions
Includes Previous Years Questions of sl Topics
Detadled Explanation of Histary, Geography, Plity,
Ecenomics & Miscellaneous
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S$14. Ans.(b)
Sol.

Each angle of polygon

3
= (90 +90)

—3><130
5

=108°

1n—2) % 180

( } =108
n

180n - 360 =108n

72n =360

n=>=5

$15. Ans.(c)
Sol.
1600 X 25 X r
100
9
252 =16 X X1

= 7
r n %%

252 =

$16. Ans.(b)

Sol. Let two numbers are x & y.

$17. Ans.(b)

Sol. Average speed

6+6+6+6

-]
150

=% & 3
PP
24
e6t+3+2+1
6( 150 )

_ 4%150

12
=50 km/hr
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$18. Ans.(c)
Sol.

ATQ,

Investment of B — x
Investment of & — 3x
Time of B = v

Time of A — 2y

Profits Ratio =3x = 2y :xx y
= OXYy : Xy

=6:1

1r — 4000

7r— 28000 Rs.

Total Profit = 28000 Rs.

$19. Ans.(b)

Sol.

110 90

x X ——x ——= 29700
100 100

x= 30,000

$20. Ans.(c)
Sol.

Distance travelled by A in 1 hour =60 = 1= 60 km
Remaining Distance = 330 - 60=270 km
They will meet after = 270/135= 2 hours

Time =9.00 AM +2=11.00 AM

$21. Ans.(d)
Sol.
50% 100%
70%
30 : 20
3 : 2
3r—=30L
1r—=10L
2r—= 20L
$22. Ans.(c)
Sol.
8SP=8CP+18S5P
75P=8CP
CP:5P=7:8
Profit 9 = % x 100
= 14;%

Vs Yo

[ SSC CGL TIER-II

S22 QUANT & ENGLISH

COMBO

40 TOTAL TEST
» 20 Quant Full Length Mocks

* 20 English Full Length Mocks
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$23. Ans.(a)
Sol.
Outer Radius=2.5+ 1=3.5cm

Inner Radius = 2.5 cm
Volume of [ron used = wh (R - R;%)

=22 % 140 (12.25 - 6.25)

=22x%x20%6
= 2640 cm®

S$24. Ans.(c)

Sol.

(4)°=nx(1)°

n==64

Surface area of recasted cubes, y =64 6 = (1)=64 = 6
Surface area of melted cube, x =6 x (4)*=16x 6
¥X:y=loxp:64dx06=1:4

$25. Ans.(a)

Sol. ATQ,
40 = 8 _ 3212

60 X trees
x =72 trees

$26. Ans.(a)
Sol.

Area of path= 1 (42)* -  (35)°

22 22
=?><42 W 42 —?x35><35
= 1694 m?

$27. Ans.(b)

Sol.
20CP=25SP
CP:5P=5:4
Loss % = X 100= 20%

$28. Ans.(a)

Sol. H=2C
10H+15C=20C+15C=35C
1I5H+10C=30C+10C=40C
ATQ,

35t 40 %t

S5 acres x acres

40
X = — aCcres
7
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$29. Ans.(c)
Sol.

Speed of Bus =x
Speedof car =x + 25
ATQ,

500 500

x x4+ 25
(x-l-25—:x)_
x2 4+ 25x )
1250 = x% + 25x
% +25x-1250=0
%%+ 50x - 25x - 1250 =

0

x(x+50)-25(x+50)=0

(x-25)(x+50)=0
x=25km/hr

Bus = 25 km/hr
Car =50 km/hr

$30. Ans.(c)
Sol.
—AQ— 10 - 210
Profit % =40 - 10 o

Gross Profit = _9—1:' =468
100
Gross Profit = 520
C.Px—= =520
100
C.P=2000 Rs.

30-4=26%

N
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publications

A COMPREHENSIVE

GUIDE FOR

RRB NTPC STAGE-1& 2

Useful for Cherk | Level-1] Ministerial & lsclated Categories snd Other Exams

4500+

Questions

(English Medium)

5

Full-Length
Practice

500 + Mocks P

MCOs of General

Awareness,

Beneral Sclence

5 & Computer

Previous
Years'
Papers

H

addaavt

.

Detailed

Explanations
for Each & Every

Question

www.bankersadda.com

www.sscadda.com

www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-books/2186/A-Comprehensive-Guide-for-RRB-NTPC-Group-D-ALP-&-Others-Exams-2019-English-Printed-Edition

